التمرين 1
الحساب الذهني
300 + 400 = 700
500 + 600 =1100

800 + 700 =1500
500 + 1200 =1700

2300 + 800 =3100
2000 + 6000 =8000

5000 + 8000 =13000
3000 + 9000 =12000

12000 + 7000= 19000
23000 + 14000 =37000

التمرين 2
أحسب ما يلي
3 0,52 + 4, 876 = 35,396
9,35 + 7 6,85 =86,20

3 51,7 + 36 ,81 =388,51
15, 365 + 17 9,65 =195,015

2,4 597 + 98 ,74 = 101,1997
32,657 + 56,7 =89,357
التمرين 3
أحسب ما يلي:​
​
​
975,743 – 2,507 =​973,632
​
· 9,018– 3,546 ​5,472=
​
· 973,631 – 9,06 5 ​964,566=
​
· 210,67– 95,436 ​105,246=
​
	1 293,54 ​ - 478,31  815,23=
​
· 9,26– 7,34 ​1,92=
​
· 6,345 – 2,971 ​3,374=
​
· 74,264 – 37,764= ​36,500
​
· 97,563 – 45,69551,868   =
​
	· 745,395 – 257,902 ​=	487,431
​
	· 9756,2 – 64,901 ​=	9691,299
​
	· 9,4756– 0,125 ​=	9,3506
​
	· 96572,2 – 1,453​=	96570,747
​
	· 745,395– 257,902 ​=	497,493
التمرين 4:
	7,45-6,95 =	0,5
· 97,64 – 64,0133,63 = 
9 8,54 -9 7,45=  1,09
30,7 – 7,03=   23,67
4,99 – 4,100= 0,89
7,5-7,49= 0,01

